
Corrigé factorisations en vrac 

Exercice 1 
1) 3x(x+3) 
2) 2(x+4y) 
3) 5x²(3x-2) 
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Exercice 2 

1) )]83()52)[(1( +−+− xxx   = )8352)(1( −−+− xxx  = )3)(1( −−− xx     
2) )3()²2)[(89( −+−+ xxx ]= )344²)(89( −++−+ xxxx = )13²)(89 +−+ xxx  
3) )462²)(5()]6()8)(5)[(5()6)(5()8)²(5( −+−=+−+−−=+−−+− xxxxxxxxxxx  
4) )163)(7)(92(]927)[7)(92()²92)(7()²7)(92( −−−=−+−−−=−−+−− xxxxxxxxxxx

 
5) =−−−−−=−−−−− )²]7(38)[7)(8(3)8()7(9)7)²(8(3 3 xxxxxxxx

)15543²3)(7)(8(3)]4914²(38)[7)(8(3 −+−−−=+−−−−− xxxxxxxxx  
 
Exercice 3 

1) (x-3)(x+3) 
2) ( )( )55 +− xx  
3) (5 – y ) ( 5 + y ) 
4) [(x – 3 ) – 3 ][(x – 3 ) + 3 ] = ( x – 6 ) x 
5) [ ( x – 9 ) – ( x – 5 ) ] [ ( x – 9 ) + ( x – 5 )] =  - 4 (2x – 14 ) = - 8 ( x – 7 ) 

 
Exercice 4 

1) (x – 2 ) ² 
2) ( x + 5 ) ² 
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4) (5x + 3 )² 

5) ( )225 +x  
 
Exercice 5 

1) [(x – 3 ) + ( x – 8 )]² = ( 2x – 11  )² 
2) [ 5 – ( x – 7 )]² = ( 12 – x )² 
3) [ (2x – 8 ) – 7 ]² = ( 2x – 15 )² 
4) [(x – 5 ) – ( x – 8 )]² = 9 
5) [(x + 5 ) – ( x – 5 )]² = 100 

 
Exercice 6 

1) (x – 3 ) ( x + 3 ) + 3 ( x – 3 ) ( x + 8 ) – ( x – 3 )² =                                                          
( x – 3 ) [ x + 3 + 3 ( x + 8 ) – ( x – 3 ) ] = ( x – 3 ) ( 3x + 30 ) = 3 ( x – 3 ) ( x + 10 ) 

2) 3 ( x² - 16 ) + ( x – 4 ) (x + 8 ) = 3 ( x – 4 ) ( x + 4 )  + ( x – 4 ) ( x + 8 )                                                           
= ( x – 4 ) [ 3 (x + 4 ) + x + 8 ] = ( x – 4 ) ( 4x + 20 ) = 4 ( x – 4 ) ( x + 5 ) 

3) [ ( x + 7 ) – ( 2x – 8 ) ][(x +7 ) + ( 2x - 8 )] + (15 – x ) ( x – 2 ) =                                       
( -x + 15 )(3x – 1 ) + ( 15 – x ) ( x – 2 ) = ( 15 – x ) ( 3x -1 + x – 2 ) =                             
( 15 – x ) ( 4x – 3 ) 
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5) [(x – 2 ) – 3 ][(x – 2 ) + 3 ] + ( x – 5 ) ( x +10 ) = ( x – 5 ) ( x + 1 ) + ( x – 5 ) ( x +10 ) 
= ( x – 5 ) ( x +1 + x +10 ) = ( x – 5 ) ( 2x + 11 ) 

 


